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PART-I (PLANTS) 

1. 	(a) Fill in the blanks : 	 1x2=2 

(i) The formation of sporophyte from the 
gametophyte without sexual process 
is called 	 

(ii) For tissue culture 	 
environment is necessary. 

(b) State whether the following statements are 
true or false. 	 lx2=2 

(i) Unisexual flowers can't be self 
pollinated. 

(ii) In flowering plants the seeds are 
always enclosed in fruits. 
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(c) Choose the correct word for the following : 

(i) Sapwood/Heart wood is used for 
construction purposes. 	 1/2x2=1 

(ii) Plant/Animal cells are totipotent 

2. (a) What is double fertilization ? What are its 	3 
end products ? What are their ploidy 
levels ? 

(b) What is juvenile phase in perennial 	2 
flowering plants ? What morphological 
changes do occur in the shoot tip during 
floral induction ? 

3. (a) What is wood in botanical terms which 	3 
properties of wood determine its quality ? 
Mention six important uses of wood. 

(b) Define Dormancy which two parts of the 	2 
plant show dormancy ? Mention the 
physiological factors that are associated 
with dormant condition. 

4. (a) Write short notes on any two of the 
following : 	 2x2=4 

(i) Abscission 

(ii) Incompatibility 

(iii) Applications of plant tissue culture 

(b) How will you determine the age of a tree ? 	1 
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5. 	(a) Describe the various mechanisms that aid 	3 
in cross pollination 'OR' seed dispersal. 

	

(b) Draw a well labelled diagram of an 	2 
■C. 	organised embryosac. 
O 
rr) 

	

6. (a) Name the scientists who observed 	1 
androgenic plants in Datura innoxia. 

(b) With the help of a flow chart show how 	2 
androgenic plants can be produced in 
laboratory conditions. 

(c) What are auxins ? What are their 	2 
physiological impacts in plants ? 

7. 	Define any five of the following terms : 
(a) Photo tropism 
(b) Periderm 
(c) Poly embryony 
(d) cleistogamy 
(e) Callus 
(f) Microsporogenesis 
(g) Secondary Tissue 

lx5=5 
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PART-II (ANIMALS) 

1. 	(a) 	Fill in the blanks : 	 3 

(i) is the characteristic larva 

of phylum Mollusca. 

(ii) In vertebrates, the heart develops from 

the germ layer called 	 

(iii) Sex determination of a human foetus 

can be made at the end of 	 

month of pregnancy. 

(iv) The slow block to polyspermy is 

achieved by 	reaction of 

the egg. 
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(v) The process of differentiation of 

spermatid into a spermalozia is called 

(vi) Reduction of body mass during 

amphibian metamorphosis is called 

(b) Distinguish between the following : 

(i) Metastasis and Metaplasia 

(ii) Hemimetabolous and Holometabolous 

insects. 

2. Discuss the various theories related with cellular 
aging. 

3. Enumerate the differences in the development and 
differentiation of an egg and a sperm. 

4. Describe the functions of extra embryonic 
membranes in vertebrates. 

5. What are fate maps ? Describe the radioactive 
method of constructing the fate map. 

6. Describe the development of blastocyst in 
mammals. 

7. Explain epimorphic morphollactic regeneration 
with suitable examples. 
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